Deviation from
Average

Concept Lecture - 8
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Algebraic sum of deviations of all numbers
from average is zero.
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If the average of 45,48,50 and ‘K’ is

find k? 1244, =5

I 45,48,50F K'[T 30T 46 &
& HT AT AT F?

a) 51 b) 48 c) 43 J 41
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The average monthly income of Arun from
January to March is Rs. 8000 and from April to
July is Rs. 10000. What should be his average
monthly income from August to December, if
the average monthly income for the whole
yearis/Rs. 11000.

31507 ¥ A T @ tEa
AAF 3T 8000 T g 3R 3dter @
JaE aF H dwa #@f¥F 31T 10000
FIT | R W A @ 3itwa 7w I
11000 T9T § A 3HH 3T ¥ REFR
de & it a1f@s 3w A d HY

a)Rs. 12500 b) Rs. 12600

c)Rs. 13000  (gfRs. 13600
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Average of 9 numbers is 18. Out of them the average of first 4 numbers is 17 and the
average of last 4 numbers is 20. The middle number is:

9 FEAT3t & HAa 18 {1 39H & ugell IR w3t F 3itad 17 IR sfaA
IR W3t FT 3tEa 20 § a’rm-zrziwa»-rqmmnw

a) 15 b) 12 c)13
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The average of 21 numbers iThe average of
first 10 numbers is 50 and the average of last 10
numbers is 42. What is the middle number?

21 GEaTat &1 3a 45 ¥ ggeh 10 FEEmsit

F 3wa 50 ¥ T WfEd 10 wEamHt F=
staa 42 & FeT gE=TET A9 W2
a) 24 25 c) 26 d) 28
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Average of 11 numbers i@ Out of them the
average of first 6 numbers is 32 and the average
of last 6 numbers is 29. The middle number is:

11 FE&I3it &1 3itaa 30 g1 349 & ggel 6
wenst &1 twa 32 3 AW 6 et
&1 3taa 29 §1 o ALY @EAT AT P2

a) 21 b) 22 ﬁa d) 24
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Average of 15 numbers is@Out of them
the average of first 8 numbers is 21 and the
average of last 8 numbers isﬁ. The middle
number is:

15 WAt &1 dMwa 20 §1 o3 @
ygdl 8 HEAT3HT 1 itEa 21 3w sfaw
8 weusi # dtwa 18 §1 @ #ALT
TEIT 4T gN?

a) 21 b) 22 c) 23 \3{12
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-280 xA5= -7000

The mean monthly salary paid to 75 workers
in a factory is[35, 680,/The mean salary of 25
them is X5,400|and that of 30 others

—gU sy isX5,700. The mean salary of the remaining

-l-.?Q X ?-)‘-o.z "|‘60-b
= }*W@
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—_—r
workers is: +320=

Pt b & 75 FAaRAT F1 AR
da &1 AT 5680 B IFAH { 25
FATRAT F #ARF Ada F1 A4
35400 33X 30 FATRET Fr 3itwa
35700 8| IR S HATIRAY 1 AW
Ad AT

a) 5,000 b) 37,000

_£¥%6,000 d) 8,000




Average of 75 numbers iut of them
the average of first 37 numbers is 118 and the

"2%'57-’- ‘74 37 average of last 37 numbers is 121. The
- middle number is:
+|x37= +37 75 WEATHT F dtEa 120 § ZAH &

ggdl 37 weanst &1 sttwa 118 3R
faq 37 @&t & dEa 121 g1 @
HEY HEIT AT H?

IQ’Q+§];/57 \3f157  b)112 )83 d) 137
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Average of 13 numbers iOut of them the

average of first 7 numbers is 18 and the

average of last 7 numbers is 21. The middle

number is:

13 H&AT3Ht & 3ad 20 §1 397 & ggell

7 wegnit & 3taa 18 3k faw 7

et w1 dtwa 21 @1 O wew weE

AT FL?

a)12 b) 15 JlB d) 4
a7




156
5B Jaaaeeo
G 126

—15
\25
h
6 + Xt %)
X46.5

The average of eighteen numbers is 42. The
average of the last ten numbers is 40 and
that of the first five numbers is 44. The
seventh number is 6 less than the sixth and
7 less than the eighth number. The average
of the sixth and the eighth number is:

HORE T &1 3iwaT 42 %l

gq et &1 dtua 40 § 3R trs'afr
uig wEaEt # dwa 44 ¥ @i
HETT, T &A1 F 6 am 3 redt

TEAT & 7 HH gl oo AR 3wedi
eoron 1 i | 0 e — gl

a) 46.5 \bY47.5

c) 45 d) 48
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The average of numbers is 48,2. The
average of the first 15 numbers is 45 and that
of the next 22 numbers is 50.5 The 38t
number is 1 more than the 39“‘ number and
the 39 number is 3 less than the 40t
number . What is the average of the 39th and
40" numbers?

40 TEITHT &1 A\ 48.2 & 9UH 15
et &1 taa a5 & 3w 3T 22
&3t F1 dEd 50.5 § 38 df wEAm, 39
dt wEar, ¥ 1 3w § 3k 39 ot wE,
40 dt wEar ¥ 3 wA g1 39 AR a0
TE&aT &1 A AT #Y

a) 48 b) 49 \ﬂms d) 48.5
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The average of ten numbers is@ The
average of first four numbers is 25. 6 and that
of the Jlast three, numbers is 38.2. The 5th
number is 50% more than the 6th number
and 8 less than the 7th number. What is the

average of 5th and 7th numbers?

cq g3t &1 3d|a 32.5 8] ggdl IR
maﬁawaﬁ'a?r256%3ﬁtaiﬁ115ﬁ?r
JEgTHt F1 3w 38.2 B grwdl e,
a8 & & 50% Ifaw ¢ AR wradt
HEAT § 8 FH g gradt IR wradt qEAT
T 3tad AT, w

a) 41 41.5 c) 42 d)42.4
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The average of 19 numbers is The
average of the first 7 numbers is
50. 6 and that of the last 13 numbers is
47. 6. If the 7th number is excluded, then
what is the average of the remaining
numbers (correct to one decimal place)?

3l FEAHT &1 IEd 48 @ wAH 7
HEITHT &1 3T 50.6 IR QA 13
et &1 tEa 47.6 B R 7t
&I # s fQar s, at ahr
T wEaHt F1 A (GAHAT F T
Tl a6 Hel) AT I

\A47.3 b) 39.6

c)42.4 d) 49.5

| | 17



The average daily expenditu a_person
during the month of |February 2020/ was

2215 the average expenditure)for the first
—QuUx|S 15 days was X142, and forfthe last 15 days
— was X96. What was hisfexpenditure (in X) on

- - 15t February?
x5 =(-30 | 2020 F1 HEN %%?T # e gfFd
- w1 &faw 3ﬁa?r T %120 41| IRAF
Qo 15 &t #1 sitaag =aw %142 3k RAA

15 feat &1 3itga =¥ =96 um 154t
G F 3THT G (X H) Thdem a1?
\3f% b) 98 ¢) 95 d) 88
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There are 10 numbers. The average of first 4
numbers is 12 and the average of the last 6
numbers is 2 more than the average of all the 10
numbers. What is the sum of all the numbers?

10 §&I4l & q Ugell 4 FEAE & dkEd
12 § T A 6 wEImar &1 3itaa &t 10
FEeaY & daa @ 2 e @ Wit 10
&I #T A5 e gem?

a)100  b)120 138 gf150

| | 19
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